Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

0,497 =100

3,454 % 1000

3,956 x 100

5,496+ 10

4,897 =10

5,689 =100

4,736 x 1000

7,179 x 1000

1,757 x 1000

7,686 + 10

3,291 x 100

6,348 x 1000

3,539 x 1000

7,357 + 1000

7,381 x 1000

9,406 =+ 1000

4,451 x 100

3,941 = 10

2,943 =10

9,426 x 1000
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

0,497 = 100
0,00497
3,454 x 1000
3.454
3,956 x 100
3956
5,496 + 10
0,5496
4,897 + 10
0,4897
5,689 + 100
0,05689

4,736 x 1000
4.736

7,179 x 1000
7.179

1,757 x 1000
1.757
7,686+ 10
0,7686

3,291 x 100
329, 1

6,348 x 1000
6.348

3,539 x 1000
3.539
7,357 +1000
0,007357

7,381 x 1000
7.381
9,406 + 1000
0,009406

4,451 x 100
445, 1
3,941 =10
0,3941
2,943 =10
0,2943

9,426 x 1000
9.426
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